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numpy =227

import numpy as np
1K}, 2K, 3%} HIR 2H=7|

# 1X BHE
diml = np.array( [1,2,3] )

# 2X HHE
dim2 = np.array( [ [1,2,3],
[4,5,6] 1)

print("dim12 3J| :", diml.shape)
print("dim22] 3J| :", dim2.shape)

dim12l 3AJl : (3,)
dim22l 3AJ| : (2, 3)

# 3X B E

dim3 = np.array( [
[ [1,2,3], [4,5,6], [7,8,9] ],
[ [11,12,13], [14,15,16], [17,18,19] ],
[ [21,22,23], [24,25,26], [27,28,29] ]
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print("dim32| =3 J| :", dim3.shape)

dim32l =AJ| : (3, 3, 3)

s

ndim - (attribute) 2 229 Xt& =20l

print("dim12 3 J| :", diml.ndim)
print("dim22/ 2AJ| :", dim2.ndim)
print("dim32 =2AJ| :", dim3.ndim)

dim12 =AJ| : 1
dim22 3J| : 2
dim32l 2AJ| : 3

ndarray link 25 7|
* https://numpy.org/doc/stable/reference/generated/numpy.ndarray.html

[2&51] numpyE 0| 8310 HIE= TS0 E AL
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[0 0 0]
[0 0 0]
[0 0 0]

* 3x3 22919 u=
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[11 1]
[11 1]
[11 1]

numpy2| zeros() 28 A&t 02| Z{2 = 27|

# 882 922 MWECt.
zero_array = np.zeros( (3,3) , dtype="int64" ) # dtype2 J|E2U2=Z float64
print(zero_array)

[[0 @ 0]
[0 0 0]
[6 0 o]]

# N2 192 MWEC.
one_array = np.ones( (3,3) ) # dtypee JIEA4 22 floates
print(one_array)

[[1. 1. 1.]
[1. 1. 1.]
[1. 1. 1.]]


https://numpy.org/doc/stable/reference/generated/numpy.ndarray.html

e 2x4 oY SII0tE wE L= HIE

[12 3 4]
[56 7 8]

o 4x2 9ol 19| g2 A= HIE

[1 2]

[3 4]

[5 6]

[7 8]
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np.arange() &5 A&t Y78t 2t4=2 4= i
# S ot SIHAIZICH.
# Otch Al JHAl HEH2 M8 2 ¢S &6,
vall = np.arange(start=0, stop=8, step=1)

print( vall )

val2 = np.arange(9, 8, 1)
print( val2 )

val3 = np.arange(8)
print( val3 )

06123456 7]
[06123456 7]
[06123456 7]

# 1~82| gt
val = np.arange(1,9)
print( val )

#2x 4 82 2XE HHE
val.reshape(2,4)

[123456 7 8]

array([[1, 2, 3, 4],
[5, 6, 7, 8]])
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#2x 4 82 2XE HE
val.reshape(-1,2)

array([[1, 2],
[3, 4],
[5, 6],
[7, 811)
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a = [1,2,3,4]
print(a[e])
print(a[3])
print(a[-2])

I

A o7l 2o 220t

a = [1,2,3,4]
print(a[1:3]) # ®AX(1,2) HHM, FHM
print(a[1:]) # SEHM2)FEH 20X
print(al[:]) # &8
#

print(a[-2:]) CHOFXI & 2ol A 28 M = H
[2, 3]

[2, 3, 4]

[1, 2, 3, 4]

[3, 4]

vall = np.arange(start=0, stop=8, step=1)
print( vall )

#2 x4 82 2X2 HHE
val2 = vall.reshape(-1,2)
val2

[06123456 7]

array([[o, 1],
[2, 3],
[4, 5],
[6, 711

print(val2[1]) # 280 82

print(val2[1][1]) # 2&2Z 20 &2
print(val2[3][0]) # 43H1Z 20 &2
print(val2[@0:2]) # 28, 380 &2

[2 3]
3
6
[[e 1]

[2 3]]
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